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	Question 1: (30 points) 
Choose the correct answer, write your answer in the table below:

	1. The value of the expression 
[image: image2.wmf]y

x

-

10

when 
[image: image3.wmf]2

=

x

, 
[image: image4.wmf]4

=

y

is equal to:

	a) 61
	b) 6
	c) 
[image: image5.wmf]16


	d) 36

	2. The translation of “two multiplied by some number” is:

	a) 2/ m
	b) m+ 2
	c) m /2
	d) 2m

	3. The slope of the line [image: image7.png]y=—5x+3



  is:

	a) 
[image: image8.wmf]2

-


	b) 
[image: image9.wmf]3

-


	c) -5
	d) 
[image: image10.wmf]3



	4. One of the following is a solution of the inequality ⃒ 4 – 7 x⃒ = -8  :

	a) -8 
	b) {4 / 7}
	c) {12/7}
	d) [image: image12.png]




	5. The Linear function whose graph has the slope[image: image15.png]


 – 4  and  intercept [image: image17.png](0,1)



,  is:

	a) [image: image20.png]flx)=4x+1




	b) [image: image22.png]flx)=4x—1



    
	c) [image: image24.png]flx) =—4x+1



     
	d) [image: image26.png]flx) =—4x—1





	6. The factorization of   [image: image28.png]6z°+3z°+2z+1



  is:

	a) [image: image29.png](3z2+1)(2z + 1)




	b) [image: image30.png](3z7-1)(2z - 1)




	c) [image: image31.png](3z7 +4)(2z - 1)




	d) [image: image32.png](z2 =3)(z -1)





	7. The point (4 , 6 ) is located in quadrant:

	a) I
	b) II
	c) III
	d) IV

	8. The scientific notation of the number 0.0000064  is:

	a) )    [image: image35.png]6.4 X 107°




	b) [image: image37.png]6.4 X 107°




	c) [image: image39.png]64X 107°




	d) [image: image41.png]64X 107°





	9.   The set of numbers for which the rational expression  [image: image42.png]3x
(x—2)(x+3)



       is not defined is:                                                      

	a) {-2 , -3}
	b) { 2, -3}
	c) { 3, 2}
	d) { -2, 3}

	10. Which one of the following inequalities is equivalent to 2x < 6 :

	a) 2x < 12
	b) -4x > -12
	c) -4x < -12
	d) 2x >12

	11. The value of         [image: image45.png](27)



     is:

	a) 3
	b) 27
	c) 9
	d) 12

	12. The least common multiple (LCM)  of 5x   and  15 x y   is:

	a) 15 x
	b) 3x y 
	c) 5x
	d) 5y

	13. The domain of the function     [image: image47.png]=2

-



  is :

	a) [image: image49.png]{x | x is areal number and x # —1}



                                
	b) [image: image51.png]{x | x is areal number and x # 1}





	c) [image: image53.png]{x | x is areal number and x # 0}




	d) [image: image55.png]{x | x is areal number and x = 1}





	14. The value of  f ( x ) = [image: image57.png]Vi +2



   when  x = 6  is:

	a) 2 
	b) 4 
	c) -2
	d) 0

	15. The result of the division     [image: image60.png]


   is: 

	a)        [image: image62.png]4x* — 3x



 
	b) [image: image64.png]4x® — 3x




	c) [image: image66.png]3x° — 4x




	d) [image: image68.png]16x* —12x





	16. The factorization of   [image: image70.png]


  is


	a) (x – 5) ( x -5)
	b) ) (x-5)(x+5)
	c)  (x+5)(x+5)
	d) (x-15)(x-10)

	17. One of the following ordered pairs is a solution to the inequality  5x – 4y > 13
a) ( -3 , 2 )                      b) ( 5 , 1 )                         c) ( 0 , 2 )                             d) ( 0 , 0 ) 

	18. The subtraction   
[image: image71]   is equal:

	a) 
[image: image72.wmf]2

24

x

+


	b) 
[image: image73.wmf]2

422

xx

++


	c) 
[image: image74.wmf]2

422

xx

-+

 
	d) 
[image: image75.wmf]2

22

x

+



	19. The result of [image: image77.png](6x7:
x°y?)?



  is :

	a) [image: image80.png]36x°y*




	b) [image: image82.png]36x°y*




	c) [image: image84.png]6x°y*




	d)   [image: image86.png](33

5S4





	20. The interval notation for the solution set { x /  x ≤ 12 }  is :

	a) ( - ∞ , 12 ] 
	b) ( - ∞ , 12 ) 
	c) ( 12 , ∞ )
	d) [ 12 , ∞ )
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	 Question 2: ( 4 points) 
Perform and Simplify the following:


1 .  [image: image89.png]


 

       2. ( x  +[image: image91.png]VEx +



 [image: image93.png]


                

	Question 3: (4 points) 
Solve the following equations:


1. ⃒2x – 2 ⃒ -3 = 4 
2. [image: image95.png]


 + 4x +3 = 0
	Question 4: (4 points) 
Solve the following inequalities:


1. 6 x – 7 ≤  3x + 2.
2. 2⃒  x – 3 ⃒ ≤ 4 .
	Question 5: (8 points)


1. Graph the following system of equations then shade the reigon of the solution:
    x + 3y ≥ -1

    x + 3y ≤ 4 . 
2. Solve the following system of equations:
             x – 2 y = 1

            2x – 3y = 3 .         
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